Conversao entre parametros magnético

SI (MKS) CGS Inglés
D Weber (Wb) maxwells linhas
1 Wb = 10" maxwells = 10" linhas
T Tesla (T) gauss linhas/pol.”
1 T=1Wbm’ = 10" gauss = 6,452 x 10’ linhas/pol.”
A 1 m’ =10'cm’ =1.550 pol.”
Ko 4 x 107 Wb/Am = | gauss/oersted = 3.2 linhas/Am
& NI (ampere-espira, Ae) 0,4 NI (gilberts) NI (Ae)
1 Ae = 1,257 gilberts =1 gilbert = 0,7958 Ae
H NI/l (Ae/m) 0,4 nNI/I (oersteds) NI/l (Ae/pol.)
1 Ae/m =1,26 x 10” oersted =2,54 x 107 Ae/pol.
H, 797 x 10’ B, B, (oersteds) 0,313 B, (Ae/pol.)

(Ae/m)



